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EENRE ENEMEERA X BER
£ o 1B - Ptk ik g & i & & =
2 B 4,912,015
EE - R - AEFER 4,912,015
BEEEREERS 4,912,015
BEERE 4,781, 400
FEE R 448, 100
1 EHE#(E 1.00 448, 100 448, 100
=
BT ERE DRt 2,741,650
2 MEEBRICHITHEET 1.00 2,741, 650 2,741, 650
=
ERERENH%RE - BE 516, 650
3 ERERESDOERE 1.00 215, 300 215, 300
[
4 EREMSEHOER 1.00 301, 350 301, 350
=
e - |E 583, 500
5 EHiE 1.00 126, 500 126, 500
[
6 RS 2.00 126, 500 253, 000
=
T RBW|E 1.00 204, 000 204, 000
[
MR 491, 500




HERRE BREITRERH RS
% # g - BTk Bifi W B B & #® I

8 MESMEMR 1.00 491, 500 491, 500

e
EEER 130, 615
ZARBAS 31,636
9 B 1.00 31,636 31,636

S
=BRARE 41,979
10 EBRARE 1.00 41,979 41,979

e
BR 57,000
1 XBHRR 1.00 57,000 57,000

e




wiEx BREATRER IR R
% # s - kT B g i & # HmE

EERME 4,781,400 + 130, 615 4,912,015
BEEAGE 4,781, 400
BHERE 130, 615
Z O fth R AT 4,781,400 x 53.85% ( 35% <+ (1 — 35%) ) 2,574,783
RHBRIE 4,912,015 + 2,574,783 7,486,798
—RERES 7,486,798 x 53.85% (35% = (1 — 35% ) ) — 8,438 4,023, 202
EHME 7,486,798 + 4,023,202 11,510, 000
HETREHLE 11,510,000 x 10.00% 1,151,000
E£BTHEH 11,510,000 + 1,151,000 12, 661, 000



RET-FET/Svr—2 ENENEER A IR ET

&5 1
& ETEEE 1Ky
% b3 R - BRT3E Bif % B B EE ] = w5 =
HE R
A 1.00 77, 500. 00 71,500
FEEER (%5
A 1.50 66, 900. 00 100, 350
HEm (A)
A 2.50 59, 600. 00 149, 000
HEm (B)
A 2.50 48, 500. 00 121, 250
& it YEZ8EH - 1.00K 448, 100. 00 448,100
&5 .2
&% AAMBEEBREICH T 5% 1)
% b3 R - KTk BARL H = B ® H B = 5 &
FERER (%5
A 8.50 66, 900. 00 568, 650
e (A)
A 11.00 59, 600. 00 655, 600
HEm (B)
A 13.50 48, 500. 00 654, 750
HEm (C)
A 12.00 40, 300. 00 483, 600
HiTg
A 10. 50 36, 100. 00 379, 050
& H YEZEEEH - 1,00k 2,741, 650. 00 2, 741, 650




RET-FET/Svr—2 ENENEER A IR ET

&S :3
&% ERERESORE =ER,
% b3 R - R ~Hix BARL H = B ® H = 5 &
FEEER (%5
A 1.00 66, 900. 00 66, 900
HEm (A)
A 1.00 59, 600. 00 59, 600
HEm (B)
A 1.00 48, 500. 00 48, 500
HEm (C)
A 1.00 40, 300. 00 40, 300
& i YEZREH - 1.00[E 215, 300. 00 215, 300
£E .4
2% ERERSEHOER HEED)
% b R - BRTE BARL H =B Bl & # w = & &
FAERER (F%ET)
A 1.00 66, 900. 00 66, 900
HEm (A)
A 1.50 59, 600. 00 89, 400
A (B)
A 1.00 48, 500. 00 48, 500
HER (C)
A 1.50 40, 300. 00 60, 450
g
A 1.00 36, 100. 00 36, 100
& § YE¥REH - 1.00ME 301, 350. 00 301, 350
&5 :5
275 BRIGE HEED)
% b R - BRTE Bif % = B ® % = i &
FAEHEM (%5
A 1.00 66, 900. 00 66, 900
HEm (A)
A 1.00 59, 600. 00 59, 600
& &t YE¥REH - 1.00E 126, 500. 00 126, 500




RET-FET/Svr—2 ENENEER A IR ET

&S :6
A% . DREmE 1EHY
£ b I - wAKTE =X H = B {f & ] B i &
FEEED &5
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.00 59, 600. 00 59, 600
& Hi YEZEREH - 1.00[E 126, 500. 00 126, 500
51
2 REBRE HEED
% b I - wAKTE ==K H = B ff & ) OB & &
HEn&
A 1.00 717, 500. 00 71, 500
F{EEER &5
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.00 59, 600. 00 59, 600
& Hi YEZEREH - 1.00[E 204, 000. 00 204, 000
E5:8
2 MEEER 1KLY
% 7 I - wAKTE By H = B i & ] W OE & &
FEHEm G&EH)
A 1.50 66, 900. 00 100, 350
AR (A)
A 2.50 59, 600. 00 149, 000
AR (B)
A 2.50 48, 500. 00 121, 250
AR (C)
A 3.00 40, 300. 00 120, 900
& Hi YEZEREH - 1.00K 491, 500. 00 491, 500




RET-FET/Svr—2 ENENEER A IR ET

&5 :9
2% B 1KLY
% b I - wAKTE BARL ¥ = B ff & ) OB 5 &
=® 1.00 31, 636.00 31,636
& H YEZEEEH - 1.00K 31, 636.00 31,636
=:10
2% EHARE 1)
% b g - KT B #H =2 B ff & ] B i® &
EHERARE
= 1.00 41,979. 00 41,979
& it E%¥HEH - 1.00 41,979. 00 41,979
&= 11
&% EBRRR =10
% 7 g - kTR BT #H = B & % = & &
(BB ERE
=® 1.00 57, 000. 00 57,000
& Hi YEZEEEH - 1,00 57, 000. 00 57, 000






